PROCEEDINGS OF THE DIRECTOR OF OF PUBLIC INSTRUCTION, THIRUVANANTHAPURAM

Sub:- General Education—Development of Sanskrit Education 2012-13—Allotment of fund Sanctioned--Orders issued—reg.

Read:- 1. Current year Budget provision under the Head of Account "2202-02-800-54 (Plan) School Education" Academic Excellence.

2. Order No. PL(2)/34545/12/DPI dated 20.6.2012.

ORDER No. PL(2) 34545/12/DPI DATED: 31.10.2012

In the current year budget an amount of Rs. 50,00,000/- (Rupees Fifty Lakhs only) has been provided for the Development of Sanskrit Education under the Head of Account "2202-02-800-54 (Plan) School Education" Academic Excellence, sanction was already granted for utilizing the entire amount for various activities.

As per reference 2nd cited, administrative sanction was already issued to utilize an amount of Rs.29,12,000/- Rupees Twenty Nine Lakhs and Twelve thousand only) for conducting various activities and programmes in the District level as per the statement attached.

In the above circumstances, sanction is accorded to release an amount of Rs.29,12,000/- (Rupees Twenty Nine Lakhs and Twelve thousand only) to all Deputy Directors of Education and they will release the amount to the District Educational Officers/Assistant Educational Officers as per the statement appended with this order. The expenditure on this account will be debited under the Head of Account "2202-02-800-54 (Plan) School Education" Academic Excellence. Senior Finance Officer of the Director of Public Instruction will place the allotment as per the list appended. The Deputy Directors of Education are requested to forward the reconciled expenditure statement and utilization certificate of the amount sanctioned to this office at the earliest.

(BY ORDER OF THE DIRECTOR OF PUBLIC INSTRUCTION)

THANKACHAN. Y, ADDITIONAL DIRECTOR OF PUBLIC INSTRUCTION (GENEAL)

To

1. The Senior Finance Officer.

2. All Deputy Directors of Education.

3. All District Educational Officers/Assistant Educational Officers.

4. S.F/F.C.

avn/1.11.12

STATEMENT FOR DISTRIBUTORS OF THE AMOUNT ALLOTTED TO DEPUTY DIRECTORS FOR THE YEAR 2012-13

DEVELOPMENT OF SANSKRIT EDUCATION

		F/A to Sanskrit	Scholarship to	Conducting charge of Scholarship
S :	Name of Deputy Directors of Education	Sanskrit day Celebration (1000 +	students of H.S. NS. 500 x 20 x 3/UPS Rs. 300 x 10 x 3	
-	Thiruvananthapuram	2000 = 3000) 9,000/-	$3 \times 30,000 = 90,000$ $12 \times 9,000 = 1,08,000$	
			=1,98,000	9
2	Kollam	9,000	$3 \times 30,000 = 90,000$ $12 \times 9,000 = 1,08,000$	000
			= 1,98,000	000
(J)	Pathanamthitta	6,000	2 x 30,000 = 60,000 11 x 9,000 = 99,000	188
			= 1,59,000	000
4	Alappuzha	12,000	$4 \times 30,000 = 1,20,000$ $11 \times 9,000 = 99,000$	9,000
V	Конауат	12,000	$= 2,19,000$ $4 \times 30,000 = 1,20,000$ $13 \times 9,000 = 1,17,000$	0,000 7,000
			=2,3	7,000
				=2,37,000

}

13	12	=	10	9	∞	7	6
Kannur	Wayanad	Kozhikode	Malappuram	Palakkad`	Thrissur	Eranakulam	Idukki
						el V	
6,000	3,000	9,000	9,000	6,000	9,000	12,000	6,000
$2 \times 30,000 = 60,000$ $15 \times 9,000 = 1,35,000$ $= 1,95,000$	11 - 1	N 1 1	$3 \times 30,000 = 90,000$ $17 \times 9,000 = 1,53,000$ $= 2,43,000$	$2 \times 30,000 = 60,000$ $12 \times 9,000 = 1,08,000$ = 1,68,000	$3 \times 30,000 = 90,000$ $12 \times 9,000 = 1,08,000$ $= 1,98,000$	$4 \times 30,000 = 1,20,000$ $14 \times 9,000 = 1,26,000$ $= 1,46,000$	$2 \times 30,000 = 60,000$ $6 \times 9,000 = 54,000$ =1,14,000
(2+15)	4 x 1000 = 4,000 (1+3)	20 x 1000 = 20,000 (3+17)	$12 \times 1000 = 20,000$ $(3+17)$	$14 \times 1000 = 14,000$ $(12+2)$	$15 \times 1000 = 15,000$ $(12+3)$	18 x 1000 = 18,000 (4 + 14)	$8 \times 1000 = 8,000$ $(2+6)$
2,18,000	64,000	2,72,000	2,72,000	1,88,000	2,22,000	2,762,000	1,28,000

.

- The Senior Finance Officer.
- All Deputy Directors of Education.
- All DEOs/AEOs.
- S.F/F.C.

avn/12.10.12

Total Kasaragode 6,000 1,14,000 $2 \times 30,000 = 7 \times 9,000 = 9$ 25,98,000 =1,23,00060,000 (2+7) $9 \times 1000 = 9,000$ 2,00,000 1,38,000 29,12,000

14

ADDITIONAL DIRECTOR OF PUBLIC INSTRUCTION (GENERAL)

LICCIOR OF MIN!